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2. Nu Ppeite 11 axépaieg pilec v eClomosmv
i) x*=3x +x+2=0 i) 3x° +8x*—15x+4=0

iii) x> —10x-12=0 iv) x> +2x* +7x+6=0

V) PX)= x°- 3x 4 x42 =0 w) Pix)- 3% A+ 3C-19x4 4
P()=1- 34122l
PC)z—1-3-142 =-3 PGY- 34 8-45+u =0
P(a)z 8-12+2+2=0 PEN=-3¢B 41544 = 34
P(-2)=-8-12-2+2=-20  P(9):= 34y +32 - 30+4 =30
povadiey ok Epoun fﬂq: 4 PCAD=-M4132 43044z 42
P4) = {192 + 128 — G0 +4 =64
P(-4)= 192 4428 +&0+4Y = 0

Ok E paused I"J“‘ 1,-4

i) Pl = x>-10x-2 ) PO= x40 +tnte
P(V= 1-10-2= - Pz -1 +3-T46=0
'é—?\:-'! -l:(:oga-;‘g PC)= -B+8-1u+t6=-3

P(-3) = 2%+ 19-2V +6=-2Y
P(—S‘ = —9l6 4 2-49+6=-180
povaluy Oktpay fi(]a'- -1

Pla\= §-20-2=-14
P(-a‘:" —R420-2 =10
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